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Macrol

21441 21443
=ACTIVATE("H-21") =ACTIVATE("%-212" ) =ACTIVATE("¥-213"
=PRINT?() =CLOSE(TRUE) =PRINT?() =PRINT?()
=RETURN() =RETURN() =RETURN()
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GEAR FREQENCIES LIST

GEAR MESHING=s 1ot == GEAR X2 | HES0E Hy 2 OXILXAt BACK LACK =] e}
fmi 0.0 1/N*Fz Fz N*FO Fz+-N+FO N*FQ
fm2 #D1V/0! 72/71 0.0 0.0 0.0 0.0 0.0 0.0
fm3 #01V/0! 0.0 0.0 0.0 0.0 0.0 0.0
fm4 0.0 0.0 0.0 0.0 0.0 0.0

0.0 0.0 0.0 0.0 0.0 0.0
2| M0t 0.0 0.0 0.0 0.0 0.0 0.0
fri 0.0
fr2 #01V/0! 74173 #01V/0! | #DIV/Q! [ #DIV/Q! |#DIV/Q! #DIV/O!| #DIV/0!
fr3 #01V/0! #01V/0! | #DIV/Q! [ #DIV/Q! |#DIV/Q! #DIV/O! | #DIV/0!
fr4 #01V/0! #01V/0! | #DIV/Q! [ #DIV/Q! |#DIV/Q! #DIV/O!| #DIV/0!
#01V/0! | #DIV/Q! [ #DIV/Q! |#DIV/Q! #DIV/O!| #DIV/0!
#01V/0! | #DIV/Q! [ #DIV/Q! |#DIV/Q! #DIV/O!| #DIV/0!
76/75 #01V/0! | #DIV/Q! [ #DIV/Q! |#DIV/O! #DIV/O!| #DIV/0!
#01V/0! | #DIV/Q! [ #DIV/Q! |#DIV/Q! #DIV/O!| #DIV/0!
#01V/0! | #DIV/Q! [ #DIV/Q! |#DIV/Q! #DIV/O!| #DIV/0!
#01V/0! | #DIV/Q! [ #DIV/Q! |#DIV/Q! #DIV/O!| #DIV/0!
#01V/0! | #DIV/Q! [ #DIV/Q! |#DIV/Q! #DIV/O!| #DIV/0!
SHAANG T =9
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GEAR FREQENCIES LIST

GEAR MESHINGZ T GEAR | X202 [EEa0e ENEEE
fm1 0.0 1/N*Fz Fz N*FO Fz+-N+FO
fm2 #DI1V/0! 72/71 0.0 0.0 0.0 0.0 0.0
0.0 0.0 0.0 0.0 0.0
0.0 0.0 0.0 0.0 0.0
0.0 0.0 0.0 0.0 0.0
2| M =1t 0.0 0.0 0.0 0.0 0.0
fri 0.0
fr2 #DI1V/0! Z4/73 #01V/0! #01V/0! #0I1V/0! |#DIV/0! #DIV/0!
fr3 #01V/0! #01V/0! #01V/0! #DI1V/0! |#DIV/0! #DIV/0!
#01V/0! #01V/0! #0I1V/0! |#DIV/0! #DIV/0!
#01V/0! #01V/0! #DI1V/0! |#DIV/0! #DIV/0!
#01V/0! #01V/0! #01V/0! |#DIV/0! #DIV/0!
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GEAR FREQENCIES LIST

GEAR MESHINGZE It %= GEAR XEH0e [EEs0e BA 2 OXIQR
fm1 0.0 1/N*Fz Fz N+FO Fz+-N*F0
72/71 0.0 0.0 0.0 0.0 0.0
0.0 0.0 0.0 0.0 0.0
0.0 0.0 0.0 0.0 0.0
0.0 0.0 0.0 0.0 0.0
3| M =1} 0.0 0.0 0.0 0.0 0.0
fri 0.0
fro #D1V/0!
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GEAR FREQENCIES LIST

GEAR MESHINGZ= Lt == GEAR XH0E [HES0ES HA 2 OXIS
S=J10Hfm 0.0 1/N*Fz Fz N*FO Fz+-
TSTIMMINGI | fm #D1V/0! < 2:GEAR 0. 0.0 0.0 0.0
2T IMMINGI | O fm #D1V/0! 0. 0.0 0.0 0.0
1EROTOR fm #D1V/0! 0. 0.0 0.0 0.0
2EHROTOR fm #D1V/0!
TSHTIMING [ #D1V/0! #DIV/0! #DIV/0! [#DIV/0!
S| & F=1p = GEAR #DIV/0! #DIV/0! #DIV/0! [#DIV/0!
JI23| & fr 0.0 #DIV/0! #DIV/0! #DI1V/0! [#DIV/0O!

1EtMALE ROTOR fr #D1V/0!
1SHFEMALE ROTOR fr #D1V/0! 2STIMING | #DIV/0O! #DIV/0! #DIV/0! [#DIV/0!
2EHMALE ROTOR fr #D1V/0! GEAR #DIV/0! #DIV/0! #DI1V/0! [#DIV/0!
2SHFEMALE ROTOR fr #D1V/0! #DIV/0! #DIV/0! #DIV/0! [#DIV/0!
1SROTOR #DIV/0! #DIV/0! #DI1V/0! [#DIV/0!
#DIV/0! #DIV/0! #DI1V/0! [#DIV/0!
#DIV/0! #DIV/0! #DI1V/0! [#DIV/0!
2ZHROTOR #D1V/0! #DIV/0! #DI1V/0! [#DIV/0!
#DIV/0! #DIV/0! #DI1V/0! [#DIV/0!
#DIV/0! #DIV/0! #DI1V/0! [#DIV/0!
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